Answer on Question #72300 — Math — Calculus

Question
Y_ay0=0, y©) -1
X
Solution
Given equation
%—4y(x):0, C e (1)
X
here y(0) =1.
We know that L(%) =5'y(s)-s"y(0) (i)

Putting the value of (ii) into (i), we get

[s'7 () -s°y(0) ]-4y(s)=0 (ii)
[Sly (s)—4y(s) ]— y(0)=0 (iv)

Using y(0)=1 , equation (iv) will become

(s-4)y=1

g_ L

y=1"2 v)
Taking Laplace inverse L™ on both sides of (v), we get

y(t)=e*

because L(ea‘)=i, L‘l(i)=eat.
S—a S—a

Hence the solution of the problem will be y(t)=e*.
Answer: y(t)=e*.
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